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ML.A. (Previous) Economics [Examination, August/September 2010
(Directorate of Distance Education)
(Freshers)
Paper —III : QUANTITATIVE METHODS FOR ECONOMISTS

Time : 3 Hours Max. Marks : 80

Note : 1) Answer any FIVE of the following, choosing not less than
TWO from each Part.
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2) All questions carry equal marks.
DT G0 TR 5057760,
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1. With suitable examples discuss the usefulness of Mathematics and Statistics in
Economics.

wqﬁrwaﬁde‘) neddecdd =B B R0, *aan; NG 093,00008 3R m»oixaer{r##a'b Reg
YUTTBTHBNLROOT DO,

2. Explain the different types of matrices.
DD DD SRIFRISH DTOR.

3.1fD=300-10pand S = 400 — 20 p are the demand and supply functions of
certain market, obtain equilibrium price and quantity.

=300-10p 2y S =400 - 20 p e =0R) e@Bosd ROBTrAnTRN) ) FWynen
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4. Solve the following set of simultaneous equations by using Cramer’s rule :
BINS B BTN T2 DODEII), VR, WA -
X+y+z=6
5x-y+2z=9
3x+6y-52=0.

5. If the demand law is D = 100 — 2p — p? and supply law is S = p? + 4p — 20, find

the equilibrium pricé and quantity.

Bead wowssy D = 100 — 2p — p? Sy Dedd worssy S = p® + 4p — 20 awon,
AR RS ¢ T30 BRIERITY Bord) &HROWD.
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6. Calculate mean, median and mode for the following data :

BN 52,38, RS0, GF e WRVENTR) TR LHBCWO:

Class-interval :

0-10110-20)|20-301| 30 -40 (40 - 50
RMFo3T:

Frequency :
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7. Calculate Karl Pearson’s co-efficient of correlation for the following data :
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8. Calculate standard deviation for the following data :
BINS TR, a)zée)aﬁccba"xg( ForD HLROWD :

Class-interval :
0-10 | 10-20|20-30|30-40 |40 - 50
wMere3s:
Frequency :
7 8 1 4 2
@SS "
9. Fit a straight line trend for the following data :
BN 78, w0 AT Sesd OLTI) Tedn:
Year :
2001 2002 2003 2004 2005
ENE
Production in ("000's) :
20 21 ) 23 24
s (‘000 o) :
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10. Compute Fisher’s Ideal Index Number for the following data :
39N WRE L=o 0BT e RV, 0833, SRR

Commodity Base Year Current Year

el Slaplefat iy TR Tk

Price | Quantity | Price Quantity
w33 Esi Aol 233 BERed

A 6 5 10 6
B 8 4 12 7
C 9 6 15 9
D 10 2 14 8




